

問題 1.3.3

□ 推定形を求めよ (1) $y'' + p(x)y' + q(x)y = r(x)$

(1) $y_0 = A_0x^2 + A_1x + A_2$ (2) $y_0 = Ae^{2x}$ (3) $y_0 = (A_0x + A_1)e^{-x}$

(4) $y_0 = A \sin x + B \cos x$ (5) $y_0 = Ae^{2x} \sin x + Be^{2x} \cos x$

(6) $2e^{3x} \rightarrow Ae^{3x}$, $\sin x \rightarrow b \sin x + c \cos x \therefore y_0 = Ae^{3x} + b \sin x + c \cos x$

(7) $bx \rightarrow A_0x + A_1$, $8e^{2x}$ 基本形 $y = e^{2x} (a_1x + a_2)$, $8e^{2x} \rightarrow b_1x e^{2x}$

$\therefore y_0 = A_0x + A_1 + b_1x e^{2x}$

(8) $y_0 = A_0x^2 + A_1x + A_2$ (9) $y_0 = (A_0x + A_1)e^{2x} \sin 2x + (b_0x + b_1)e^{2x} \cos 2x$

(10) $\cos 2x \rightarrow A \sin 2x + B \cos 2x$, $5x \rightarrow Cx + d \therefore y_0 = A \cos 2x + B \sin 2x + Cx + d$

(11) 基本形 $y = e^{2x} (A_0x + A_1)$, $3 \cos x \rightarrow b_1 \sin x + b_2 \cos x$,

e^{-x} 基本形 $y = e^{-x} (Cx + D)$

$y_0 = x(A_0x + A_1) + (b_1 \sin x + b_2 \cos x) + Cx e^{-x}$

□ (1) $\lambda^2 + 6\lambda + 8 = (\lambda + 2)(\lambda + 4) = 0 \therefore \lambda = -2, -4$. 基本形 $y_1 = e^{-2x}$, $y_2 = e^{-4x}$

基本形 $W(y_1, y_2) = \begin{vmatrix} e^{-2x} & e^{-4x} \\ -2e^{-2x} & -4e^{-4x} \end{vmatrix} = -4e^{-6x} + 2e^{-6x} = -2e^{-6x}$

$\therefore \frac{-R(x)A_2}{W(y_1, y_2)} = \frac{-\frac{2}{1+e^{2x}} \cdot e^{-4x}}{-2e^{-6x}} = \frac{e^{-4x}}{1+e^{2x}} \cdot e^{6x} = \frac{e^{2x}}{1+e^{2x}}$

$\therefore \int \frac{-R(x)A_2}{W(y_1, y_2)} dx = \int \frac{e^{2x}}{1+e^{2x}} dx = \frac{1}{2} \int \frac{2e^{2x}}{1+e^{2x}} dx = \frac{1}{2} \log(1+e^{2x})$

$$\begin{aligned} \rightarrow \frac{R(x) \cdot y_1}{W(y_1, y_2)} &= \frac{\frac{2}{1+e^{2x}} \cdot e^{-2x}}{-2e^{-4x}} = -\frac{e^{-2x}}{1+e^{2x}} \cdot e^{6x} = -\frac{e^{4x}}{1+e^{2x}} = -\frac{e^{2x}(1+e^{2x}) - e^{2x}}{1+e^{2x}} \\ &= \frac{e^{2x}}{1+e^{2x}} - e^{2x} \end{aligned}$$

$$\therefore \int \frac{R(x) \cdot y_1}{W(y_1, y_2)} dx = \int \left(\frac{e^{2x}}{1+e^{2x}} - e^{2x} \right) dx = \frac{1}{2} \log(1+e^{2x}) - \frac{1}{2} e^{2x}$$

$$\begin{aligned} \therefore y_0 &= e^{-2x} \cdot \frac{1}{2} \log(1+e^{2x}) + e^{-4x} \left\{ \frac{1}{2} \log(1+e^{2x}) - \frac{1}{2} e^{2x} \right\} \\ &= -\frac{1}{2} e^{-2x} + \frac{1}{2} (e^{-2x} + e^{-4x}) \log(1+e^{2x}) \end{aligned}$$

$$\therefore y = C_1 e^{-2x} + C_2 e^{-4x} - \frac{1}{2} e^{-2x} + \frac{1}{2} (e^{-2x} + e^{-4x}) \log(1+e^{2x})$$

$$\therefore y_1 = C_1 e^{-2x} + C_2 e^{-4x} + \frac{1}{2} (e^{-2x} + e^{-4x}) \log(1+e^{2x}) \quad (C_1 - \frac{1}{2} \rightarrow C_1)$$

$$(2) \lambda^2 + 1 = 0 \therefore \lambda = \pm i \quad \int_0^{2\pi} \sin x \cos x dx \quad y_1 = \sin x, y_2 = \cos x \quad P_2 =$$

$$W(y_1, y_2) = \begin{vmatrix} \sin x & \cos x \\ \cos x & -\sin x \end{vmatrix} = -\sin^2 x - \cos^2 x = -1$$

$$\therefore \frac{-R(x) \cdot y_2}{W(y_1, y_2)} = \frac{-\frac{1}{\cos x} \cdot \cos x}{-1} = 1 \quad \therefore \int \frac{-R(x) \cdot y_2}{W(y_1, y_2)} dx = \int 1 dx = x$$

$$\rightarrow \frac{R(x) \cdot y_1}{W(y_1, y_2)} = \frac{\frac{1}{\cos x} \cdot \sin x}{-1} = -\frac{\sin x}{\cos x} \quad \therefore \int \frac{R(x) \cdot y_1}{W(y_1, y_2)} dx = \int -\frac{\sin x}{\cos x} dx = \log |\cos x|$$

$$\therefore y_0 = x \sin x + (\cos x) \log |\cos x| \quad \therefore y = C_1 \sin x + C_2 \cos x + x \sin x + (\cos x) \log |\cos x|$$